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(5 marks)




Question 1 notes:

Main Scheme

M1: Valid attempt at partial fractions

M1: Starts the process of differences to identify the relevant fractions at the start and end
Al: Correct fractions that do not cancel

M1: Attempt common denominator

Al: Correct answer

Alternative by Induction:

M1: Usesn=1andn =2 to identify values for a and b

M1: Starts the induction process by adding the (k + 1) term to the sum of k terms
Al: Correct single fraction

M1: Attempt to factorise the numerator

Al: Correct answer and conclusion




